Ki, Mobility

N
Liberty Rigid Cross Braces
ﬁ}
i Q)
}@A\f:;:ﬁ 3
*179‘;5 QQ\
e B & L
23 <y le
SN /‘\&“‘“k:\.;_' T4
B |\§ ] N Py ,,
AN TN
Py = &W}\ 7 e —
"]—)\\ﬂ] @"é‘;:“%}}mt‘ 2~ @
\‘:\\*‘g}&%“} a\::’ 7
TQ“»; s @ ®©
Assembled View ':LV:; ‘:“‘Eg:@
2 = ®
o

These parts are Not Retrofittable. If you have a Folding Liberty Frame, please see the "Liberty Non-Folding Cross Brace" page.

Item Number Part Number  Description Quantity

Rigid Lower Crossbrace Kit with Hardware,
Used with widths 14"-18"

Rigid Lower Crossbrace Kit with Hardware,
Used with widths 16"-20"

08-06-2025



[tem Number  Part Number  Description Quantity
Rigid Lower Crossbrace Kit with Hardware,
1c, 4, 6-12 118068 Large, Liberty 1
Used with Widths 18"-22"
2a,4,5,7, 9- Rigid Upper Crossbrace Kit with Hardware,
12 118069 Small, Liberty 1
Used with widths 14"-18"
2b,4,5,7,9- Rigid Upper Crossbrace Kit with Hardware,
12 118070 Medium, Liberty 1
Used with widths 16"-20"
2c,4,5,7,9- Rigid Upper Crossbrace Kit with Hardware,
12 118071 Large, Liberty 1
Used with Widths 18"-22"
3,8,9 12 118072 Rigid Stabilizer Link Kit, Liberty 1
Reusable part - Not required if chair is already a Rigid
version
4-12 118073 Rigid Hardware Kit, Full Package, Liberty 1
la 116433 Cross Link, Base, Small, Liberty 1
Used with widths 14"-18"
1b 116434 Cross Link, Base, Medium, Liberty 1
Used with widths 16"-20"
1c 116435 Cross Link, Base, Large, Liberty 1
Used with Widths 18"-22"
2a 116436 Cross Link, Backrest, Small, Liberty 1
Used with widths 14"-18"
2b 116437 Cross Link, Backrest, Medium, Liberty 1
Used with widths 16"-20"
2c 116438 Cross Link, Backrest, Large, Liberty 1
Used with Widths 18"-22"
3 116439 Stabilizer Link, Liberty 1
4 116440 Spacer, .59 OD x .251 ID x .250 L 1
5 116441 Spacer, .59 OD x .251 ID x .998 L 1
6 116442 Spacer, .59 0D x .251 ID x 1.073 L 1
7 100746 M6 Flat Washer Blk Zn 1
8 102803 Washer Flat .250 X .500 X .027 Hx Blz 1
9 101823 M6 X 20 Hhcs Blk Zn 1
10 116854 HHCS, M6x1, 0x30, CLS10.9, PT, BLZ, DIN931 1
11 100677 M6 x 60 CLS10.9 DIN931 HHCS zC 1

08-06-2025




[tem Number  Part Number  Description Quantity

12 100658 M6 Nylock Nut Blk Zn 1

08-06-2025




